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FIGURES IN ENGLISH 

  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Figura S1. Sequence of steps for drawing the two chair conformations of cyclohexane: without explicit 
carbon-hydrogen bonds (above, Steps 1 to 7); to draw bonds in the axial (Steps 8 and 9) and equatorial (Steps 
10 to 12) positions for the chairs with positive (middle) and negative (bottom) tilt 

 

STEP 6
Starting from the
superior diagonal, 
draw an inclined
line that passes the
start of the lower
one

STEP 3
Draw a second
diagonal spaced 2 
cm from the first
one

STEP 2
Using a pen,
draw a diagonal
line connecting
the two verticals

STEP 4
Starting from the
lower diagonal, 
draw an inclined line
that passes the start 
of the superior 
diagonal

STEP 1
Using a pencil, 
draw two
vertical lines

Positive slope

STEP 5
Join the two
ends, as 
indicated

STEP 7
Join the two last
ends, closing the
ring as indicated

Drawing progress
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6
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1
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4

5

Negative slope

6

2 3

4

STEP 10
From C2, draw the bisection line of the angle

formed from the pencil-made line and the C2-C3 
bond
AND

From C5, draw the bisection line of the angle
formed from the pencil-made line and the C5-C6 

bond

STEP 8
From the vertices 2, 4 and 6 that point upward, draw upward lines

STEP 9
From the vertices 1, 3 and 5 that point downward, draw downward lines

STEP 11
Move to the atom 4 the line formed by C2-C3

AND
Move to the atom 1 the line formed by C5-C6

2

5

4

2

3
1

3

6 6

STEP 12
Move to the atom 3 the line formed by C1-C2

AND
Move to the atom 6 the line formed by C1-C2

1

2 3

6

To indicate the axial bonds:

To indicate the equatorial bonds:

8 9

10 11 12

Drawing process for the positive slope chair

5

1

5

1

2

6

1

2

3

4

5

STEP 10
From C1, draw the bisection line of the angle

formed from the pencil-made line and the C1-C6 
bond
AND

From C4, draw the bisection line of the angle
formed from the pencil-made line and the C4-C3 

bond

Drawing process for the negative slope chair

STEP 8
From the vertices 1, 3 and 5 that point upward, draw upward lines

STEP 9
From the vertices 2, 4 and 6 that point downward, draw downward lines

STEP 11
Move to the atom 5 the line formed by C1-C6

AND
Move to the atom 2 the line formed by C3-C4

2

4
3

1
3

5

6

STEP 12
Move to the atom 6 the line formed by C1-C2

AND
Move to the atom 3 the line formed by C1-C2

1

36

To indicate the axial bonds:

To indicate the equatorial bonds:

8 9

10 11 12
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Figura S2. Highlights of the chair conformations of cyclohexane: (a) structures in equilibrium without explicit 
C-H bonds, with generic axial and equatorial indications, and with explicit C-H bonds, (b) verification of the 
design by viewing the negative, positive and lateral zig-zags, (c) verification through the detached 
substructures of the ring on easels in the projection of alternating connections 
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H
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A

The highlighted bonds move towards the reader in a positive Zig-
Zag pattern:

The highlighted bonds move away from the reader in a 
negative Zig-Zag pattern:

B

Highlighted lateral bonds, with opposite Zig-Zag patterns:

The positioning of the axial and equatorial bonds generates a 
sawhorse at each C-C bond of the ring.

C



 
 

 

Figura S3. Sequence of steps to draw the boat conformation of cyclohexane 

 

 

Figura S4. Sequence of steps to draw the hail-chair conformation of cyclohexene 

Move to the top of
C6 the C2-C3 line

Move to the
bottom of C3 the
C6-C5 line

Move to the top of
C3 the C1-C6 line

From the vertices
that point 
downwards, draw
downward lines

Join the drawn line
to the atom 1: It 
forms C6

Draw a Zig-Zag starting from
the line of the previous step
passing through C4, C3, C2,
as indicated

At C5, draw the bisecting
line of the angle formed by
the pencil line and the C5-
C6 bond

Draw a Zig-Zag starting from 
the line of the previous step 
passing through C5, C6, C1, 
as indicated

At C4, draw the bisecting
line of the angle formed by
the pencil line and the C3-
C4 bond

Drawing process

7

6

8

Using a pencil, 
draw an
equilateral 
triangle

Using a pen, draw
a line at the base 
of the triangle

1 2

45

Draw another line in the
Middle of the triangle: 
These are the C1, C2, C4 
and C5 of the ring

321 4 5

3

At C4, draw a line 
perpendicular to 
the pencil line

Join the drawn line to
the atom 2: It forms
C3

At C5, draw a line
perpendicular to the
pencil line

4

3

9 10 11

12

6

1

21

45

36

1

36
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2

3

4

2

6

5

1

6

5

13 14 15 16
Move to the
bottom of C6 the
C3-C4 line

5

36

2

36

17 Insert the hydrogens

H

H H

H H

H

H H

HH

H

H

Draw a new line at the left 
end of the line, inclined at 
45 degrees, with a length of 
one-third of the original line

Drawing progress

1 2 3

4 5 6

Draw a horizontal 
line

Using a pen, 
divide the line in 
three equal parts

dd d

Repeat the step 3 
on the right side, 
forming a new 45 
angle

dd d

45 

45 

45 

Draw a short line 
parallel to the 
horizontal one, with a 
slight offset from it

45 

45 

Connect the upper point 
to the lower point with a 
line, ensuring that it 
does not intersect the 
horizontal lines

45 

45 

7 8 9

Repeat the step 9 on the right ends, 
keeping the paralelism with the last two
drew lines

Add the hydrogens and 
erase the pencil guide 
points

H

H

H

H

H

H
H

H

Draw two inclined lines at 
the left ends, converging as 
they move away from the 
drawing

Draw vertical lines at 
the left and right ends, 
forming right angles

Draw vertical 
lines at the upper 
and lower ends

10 11



 
 

 

Figura S5. Sequence of steps to draw the cis and trans-decalin  

7

Redraw the STEP 7 of
Figure 2

Move C3-C4 to C2, but draw 
the line with half the size

Starting from C3, draw a line 
downward with the same size 
as C3-C4

Move the vertical line
to the end of the small
diagonal

Join the ends, closing the ring as 
indicated

Drawing process

1

6

1

3

5

2

Draw the axial bond in 
C2 and the equatorial 
bond in C3. Insert the
Hydrogens

2

4

5

3

2

6

3

2

4

4

3

2

4

3

3

4

2

3

2

Cis-decalin

H
H

3

Move C2-C3 to the end
of the lowermost line

Redraw the
STEP 7 of Figure 
2

Draw a vertical line passing
through C3 and other with the
same separation “d” indicated

Move C1-C2 to C3

Move C2-C3 to C4, 
touching the line c

Draw another
paralel diagonal 
joining the c and d 
lines

Starting from the superior line, 
draw a diagonal that passes 
through the start of the inferior 
diagonal

Join the ends, closing the ring as 
indicated

Drawing progress

7

6

1

6

1

2 3

4
5

Distance
--- d ---

lines a   b 

2

3

--- d --- --- d ---

a            b            c            d

3

1

2 3

a            b            c            d

4

4

2

3

5

Trans-decalin

H

H

3

4

8 Draw the axial bonds at C3 and C4 
and insert the hydrogens

a            b            c            da            b            c            d



 
 

FIGURAS EN ESPAÑOL 

 

Figura S6. Secuencia de pasos para dibujar las dos conformaciones de silla de ciclohexano: sin enlaces 
explícitos carbono-hidrógeno (arriba, Pasos 1 a 7); para dibujar enlaces en las posiciones axial (pasos 8 y 9) y 
ecuatorial (pasos 10 a 12) para las sillas con inclinación positiva (medio) y negativa (abajo) 

 

6

2 3

4

PASO 10
En C2, traza la bisectriz del ángulo formado por 

la línea hecha a lápiz y el enlace C2-C3
Y

En C5, traza la bisectriz del ángulo formado por 
la línea hecha a lápiz y el enlace C5-C6

PASO 8
En los vértices 2, 4 y 6 que apuntan para arriba, traza líneas hacia arriba

PASO 9
En los vértices 1, 3 y 5 que apuntan para abajo, traza líneas hacia abajo

PASO 11
Mueve la línea formada por C2-C3 para el átomo 4

Y
Mueve la línea formada por C5-C6 para el átomo 1

2

5

4

2

3
1

3

6 6

PASO 12
Mueve la línea formada por C1-C2 para el átomo 3

Y
Mueve la línea formada por C1-C2 para el átomo 6

1

2 3

6

Para indicar los enlaces axiales:

Para indicar los enlaces ecuatoriales:

8 9

10 11 12

Progreso del diseño para la silla com inclinación positiva

5

1

5

1

2

6

1

2

3

4

5

PASO 10
En C1, traza la bisectriz del ángulo formado por 

la línea hecha a lápiz y el enlace C1-C6
Y

En C4, traza la bisectriz del ángulo formado por 
la línea hecha a lápiz y el enlace C4-C3

Progreso del diseño para la silla com inclinación negativa

PASO 8
En los vértices 1, 3 y 5 que apuntan para arriba, traza líneas hacia arriba

PASO 9
En los vértices 2, 4 y 6 que apuntan para abajo, traza líneas hacia abajo

PASO 11
Mueve la línea formada por C1-C6 para el átomo 5

Y
Mueve la línea formada por C3-C4 para el átomo 2

2

4
3

1
3

5

6

PASO 12
Mueve la línea formada por C1-C2 para el átomo 6

AND
Mueve la línea formada por C1-C2 para el átomo 3

1

36

Para indicar los enlaces axiales:

Para indicar los enlaces ecuatoriales:

8 9

10 11 12

16
4

2

1

2

PASO 6
Empezando en la 
diagonal inferior, traza 
una línea inclinada que 
pase el comienzo de la 
diagonal inferior

PASO 1
Con un 
lápiz, traza 
dos líneas 
verticales

Inclinación positiva

PASO 5
Conecta los
dos extremos, 
como 
indicado

Progreso del diseño

2 3 4 5 6 71

4

1

2

3

5

6

6

1

2 3

4

5

Inclinación negativa

PASO 2
Con un bolígrafo, 
traza una línea 
diagonal 
conectando las 
dos verticales

PASO 3
Traza una 
segunda diagonal 
con 2 cm de 
espacio a la
primera

PASO 4
Empezando en la 
diagonal inferior, traza 
una línea inclinada que 
pase el comienzo de la 
diagonal superior

PASO 7
Conecta los dos 
extremos, 
cerrando el
anillo, como 
indicado



 
 

 

Figura S7. Destaques de las conformaciones de la silla de ciclohexano: (a) estructuras en equilibrio sin enlaces 
C-H explícitos, con indicaciones axiales y ecuatoriales genéricas, y con enlaces C-H explícitos, (b) verificación 
del diseño mediante la visualización de los zig-zags negativos, positivos y laterales, (c) Verificación a través 
de las subestructuras separadas del anillo sobre caballetes en la proyección de conexiones alternas 
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HH

H

H
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H

H
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H

H

H

A

El posicionamiento de los enlaces axial y ecuatorial genera un 
caballo de sierra en cada enlace C-C del anillo

C

Los enlaces resaltados se mueven hacia el lector en un patrón de 
Zig-Zag positivo:

Los enlaces resaltados se alejan del lector en un patrón de 
Zig-Zag negativo:

B

Enlaces laterales resaltados, con patrones opuestos de Zig-Zag:



 
 

 

Figura S8. Secuencia de pasos para dibujar la conformación bote del ciclohexano 

 

Figura S9. Secuencia de pasos para dibujar la conformación media-silla del ciclohexeno 

 

Mueve a la parte 
superior de C6 la 
línea C2-C3

Mueve a la parte 
inferior de C3 la 
línea C6-C5

Mueve a la parte 
superior de C3 la 
línea C1-C6

En los vértices que 
apuntan hacia 
abajo, dibuja líneas 
para abajo

Une la línea 
dibujada al átomo 
1: Forma C6

Dibuja un Zig-Zag a partir de
la línea del paso anterior
pasando por C4, C3, C2,
como se indica

En C5, dibuja la línea de 
bisección del ángulo formado 
por la línea hecha con lápiz y 
el enlace C5-C6

Dibuja un Zig-Zag a partir de la 
línea del paso anterior 
pasando por C5, C6, C1, como 
se indica

En C4, dibuja la línea de 
bisección del ángulo 
formado por la línea hecha 
con lápiz y el enlace C3-C4

Progreso del diseño

7

6

8

Usando un lápiz, 
dibuja un triángulo 
equilátero

Con un bolígrafo, 
dibuja una línea en 
la base del 
triángulo

1 2

45

Dibuja otra línea en el 
centro del triángulo: 
Estos son el C1, C2, C4 y 
C5 del anillo

321 4 5

3

En C4, dibuja una 
línea perpendicular 
a la línea hecha con 
lápiz

Une la última línea 
trazada al átomo 2: 
Forma C3

En C5, dibuja una línea 
perpendicular a la línea 
hecha con lápiz

4

3

9 10 11

12

6

1

21

45

36

1

36

54

2

3

4

2

6

5

1

6

5

13 14 15 16
Mueve a la parte 
inferior de C6 la 
línea C3-C4

5

36

2

36

17 Inserta los hidrógenos

H

H H

H H

H

H H

HH

H

H

Dibuja una nueva línea a 
45 en el extremo izquierdo, 
con tamaño de un tercio de 
la línea original

Progreso del diseño

1 2 3

4 5 6

Dibuja una línea 
horizontal

Con un bolígrafo, 
divide la línea en 
tres partes iguales

dd d

Repite el paso 3 en 
el lado derecho, 
formando un nuevo 
ángulo de 45 

dd d

45 

45 

45 

Dibuja una línea corta 
horizontal, con un 
ligero desplazamiento 
de la línea horizontal

45 

45 

Conecta el punto 
superior al punto inferior 
con una línea, sin 
intersectar las líneas 
horizontales

45 

45 

7 8 9

Repite el paso 9 en los extremos 
derechos, manteniendo el paralelismo 
con las dos últimas líneas dibujadas

Añade los hidrógenos y 
borra los puntos-guía 
hechos a lápiz

H

H

H

H

H

H
H

H

Dibuja dos líneas inclinadas 
en los extremos izquierdos, 
convergiendo a medida que 
se alejan del diseño

Dibuja líneas verticales 
en los extremos 
izquierdo y derecho, 
formando ángulos 
rectos

Dibuja líneas 
verticales en los 
extremos 
superior e inferior

10 11



 
 

 

Figura S10. Secuencia de pasos para dibujar la cis y trans-decalina  

7

Vuelve a dibujar el 
PASO 7 de la Figura 2

Mueve C3-C4 a C2, pero 
dibuj la línea con la mitad 
del tamaño

A partir de C3, dibuja una 
línea hacia abajo con el 
mismo tamaño que C3-C4

Mueve la línea vertical 
hasta el final de la 
diagonal pequeña

Une los extremos, cerrando el 
anillo como se indica

Progreso del diseño

1

6

1

3

5

2

Dibuja el enlace axial en 
C2 y el enlace ecuatorial 
en C3. Inserta los 
hidrógenos

2

4

5

3

2

6

3

2

4

4

3

2

4

3

3

4

2

3

2

Cis-decalina

H
H

3

Mueve C2-C3 al final de 
la línea más baja

Vuelve a 
dibujar el PASO 
7 de la Figura 2

Dibuja una línea vertical que pase 
por C3 y otra con la misma 
separación "d" indicada

Mueve C1-C2 a C3

Mueve C2-C3 a C4, 
tocando la línea c

Dibuja otra diagonal 
paralela uniendo las 
líneas c y d

A partir de la línea superior, 
dibuja una diagonal que pase el 
inicio de la diagonal inferior

Une los extremos, cerrando el anillo 
como se indica

Progreso del diseño

7

6

1

6

1

2 3

4
5

Distancia
--- d ---

líneas   a           b 

2

3

--- d --- --- d ---

a            b            c            d

3

1

2 3

a            b            c            d

4

4

2

3

5

Trans-decalina

H

H

3

4

8 Dibuja los enlaces axiales en C3 y 
C4 e inserta los hidrógenos

a            b            c            da            b            c            d



 
 

PROCEDIMENTO ALTERNATIVO PARA DESENHAR O CICLO-HEXANO 

 

Figura S11. Sequência de passos para desenhar as duas conformações cadeiras do ciclo-hexano: sem as 
ligações carbono-hidrogênio explícitas (acima, Passos 1 a 7); para desenhar as ligações nas posições axiais 
(Passos 8 e 9) e equatoriais (Passos 10 a 12) para as cadeiras com inclinação positiva (meio) e negativa 
(abaixo) 

 

PASSO 4
Cobrir à caneta os dois 
segmentos externos da 
diagonal

PASSO 1
Desenhar a lápis duas 
linhas horizontais

PASSO 2
Traçar uma diagonal 
formando uma letra 
“Z” (ou letra “Z” 
invertida)

PASSO 3
Marcar dois pontos 
dividindo a diagonal 
em três segmentos 
iguais

PASSO 5
Traçar duas diagonais 
de modo a formar dois 
triângulos

PASSO 6
Unir as 
extremidades 
fechando o anel, 
como indicado

Progresso do desenho

1 2 3 4 5 6

Letra “Z”

Letra “Z” invertida

5

1

46

2
3

4
5

1

6

2
3

PASSO 7
Nos vértices 2, 4 e 6 que apontam para cima, 

traçar linhas para cima

PASSO 9
Nos vértices 1 e 4, traçar linhas 

paralelas à linha C2-C3

PASSO 8
Nos vértices 1, 3 e 5 que apontam para baixo, 

traçar linhas para baixo

PASSO 10
Nos vértices 2 e 5, traçar linhas 

paralelas à linha C1-C6

PASSO 11
Nos vértices 3 e 6, traçar linhas 

paralelas à linha C4-C5

Para indicar as ligações axiais:

Para indicar as ligações equatoriais:

7 8

9 10 11

Progresso do desenho para a cadeira iniciando com a letra “Z”

5

1

46

2
3

5

1

46

2
3

5

1

46

2
3

1

5

3

6 4

2
1

5

3

6 4

2
1

5

3

6 4

2

1

5

3

6 4

2

46
5

3
2

1

PASSO 9
Nos vértices 1 e 4, traçar linhas 

paralelas à linha C2C3

PASSO 7
Nos vértices 2, 4 e 6 que apontam para cima, 

traçar linhas para cima

PASSO 8
Nos vértices 1, 3 e 5 que apontam para baixo, 

traçar linhas para baixo

PASSO 10
Nos vértices 2 e 5, traçar linhas 

paralelas à linha C1C6

PASSO 11
Nos vértices 3 e 6, traçar linhas 

paralelas à linha C1C2

Para indicar as ligações axiais:

Para indicar as ligações equatoriais:

7

Progresso do desenho para a cadeira iniciando com a letra “Z” invertida

8

9 10 11



 
 

 

Figura S12. Destaques das conformações cadeiras do ciclo-hexano: (a) estruturas em equilíbrio sem ligações 
C-H explícitas, com indicações genéricas axial e equatorial, e com ligações C-H explícitas, (b) verificação do 
desenho através da visualização dos zig-zags negativos, positivos e laterais, (c) verificação através das 
subestruturas destacadas do anel em cavaletes na projeção de ligações alternados  

A

H

H

H

H H

H

H

HH

H
H

H

H

H

H

H H

H

H

HH

H
H

H

Ligações em destaque que se aproximam do leitor em traçado Zig-Zag
positivo:

Ligações em destaque que se afastam do leitor em traçado Zig-Zag
negativo:

B

Ligações laterais em destaque em traçado Zig-Zag opostos:

Posicionamento das ligações axiais e equatoriais gera um cavalete em 
cada ligação C-C do anel:

C



 
 

PROCEDIMENTO ALTERNATIVO PARA DESENHAR AS DECALINAS 

 

Figura S13. Sequência de passos para desenhar a cis e a trans-decalina 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Redesenhar o PASSO 6 da 
Figura 1S

Transladar C3-C4 para C2 A partir  de C3, traçar 
uma linha para baixo

Transladar a linha 
vertical de C3 para a 
diagonal pequena

Unir as extremidades 
fechando o anel, como 
indicado

Progresso do desenho

Traçar as ligações axial em 2 e 
equatorial em 3 e escrever os 
Hidrogênios

7Transladar C2-C3 para o 
final da reta inferior

1

5

3

6 4

2
1

5

3

6 4

2
1

5

3

6 4

2
1

H

H

5

3

6 4

2
1

5

3

6 4

2
1

5

3

6 4

2
1

5

3

6 4

2
1

2 3 4

5 6

Cis-decalina

Redesenhar o PASSO 6 da 
Figura 1S

Transladar C4-C5 para C3 Transladar C2-C3 para C4 Transladar C5-C4 para a 
extremidade da diagonal 
decrescente

Unir as extremidades fechando o anel, 
como indicado

Progresso do desenho

Traçar as ligações axiais em 3 e 4 e 
escrever os Hidrogênios

7Transladar C4-C3 para a extremidade da 
última linha desenhada
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Trans-decalina
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